

LOTUS BRIDGE INTERNATIONAL SCHOOL

NURTURING YOUNG MINDS FOR THE CHALLENGES OF AN EVER-CHANGING WORLD

Courses, Modules & Teachers

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
1	Cambridge Primary (Year 1)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Physical Education 	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi Neetu Gupta Mamoona Zia	1:25	Registra Onetim Boc Mis Uni Onl Lib Exa Fee Pro Course Total A
2	Cambridge Primary (Year 2)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Physical Education 	Natasha NautiyalMaksuda AlmaziAlagumalai SulochanaReena GuptaTam Joo EeSurinderjit SinghMarinah YatimMysore Ramaradhya SwathiHina ShahidAlicia TeoJesintha AseerpathamRima BiswasPriyaa Tharshiny T. SampaterPranjali SonowalSoma SomeNishalini D/O LakchimanathasSwati JainSudha JoshiNeetu GuptaMamoona Zia	1:25	Registra Onetim Boo Mis Uni Onl Lib Exa Fee Pro Course Total A

Money Payable

stration Fee: **\$180 (b/f GST)** sime Payment: **\$873 (b/f GST)** Books fee: \$180 Misc Fee: \$247 Jniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 Protection Scheme (FPS): **\$240** se Fee: (\$825 x 12) **\$9,900 (b/f GST)**

Annual Fees: \$11,193.00 (b/f GST)

stration Fee: **\$180 (b/f GST)** time Payment: **\$910 (b/f GST)** Books fee: \$217 Misc Fee: \$247 Uniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 Protection Scheme (FPS): **\$240** se Fee: (\$825 x 12) **\$9,900 (b/f GST)**

Annual Fees: \$11,230 (b/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
3	Cambridge Primary (Year 3)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Physical Education 	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi Kashmir Singh Neetu Gupta Mamoona Zia	1:25	Regist Onetin Bo Ui Oi Li E: Fee Pr Cours Total
4	Cambridge Primary (Year 4)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Physical Education 	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi Kashmir Singh Neetu Gupta Mamoona Zia	1:25	Regist Onetin Bo M Un On Li E: Fee Pr Cours Total

gistration Fee: **\$180 (b/f GST)** etime Payment: **\$910 (b/f GST)** Books fee: \$217 Misc Fee: \$247 Uniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 e Protection Scheme (FPS): **\$240** urse Fee: (\$825 x 12) **\$9,900 (b/f GST)**

al Annual Fees: \$11,230 (b/f GST)

gistration Fee: **\$180 (b/f GST)** etime Payment: **\$910 (b/f GST)** Books fee: \$217 Misc Fee: \$247 Uniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 e Protection Scheme (FPS): **\$240** urse Fee: (\$825 x 12) **\$9,900 (b/f GST)**

al Annual Fees: \$11,230 (b/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
5	Cambridge Primary (Year 5)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Physical Education 	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi Kashmir Singh Neetu Gupta Mamoona Zia	1:25	Regist Onetil Bo M Ut Ot Li E Fee Pi Cours Total
6	Cambridge Primary (Year 6)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) Art Science Music Information Communication Technology (ICT) Global Perspectives (TSDP) Life Skills Physical Education 	Natasha NautiyalMaksuda AlmaziAlagumalai SulochanaReena GuptaTam Joo EeSurinderjit SinghMarinah YatimMysore Ramaradhya SwathiHina ShahidAlicia TeoJesintha AseerpathamRima BiswasPriyaa Tharshiny T. SampaterPranjali SonowalSoma SomeNishalini D/O LakchimanathasSwati JainSudha JoshiKashmir SinghNeetu GuptaMamoona Zia	1:25	Regist Oneti Bo M Uf Cours Total

gistration Fee: **\$180 (b/f GST)** etime Payment: **\$910 (b/f GST)** Books fee: \$217 Misc Fee: \$247 Uniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 e Protection Scheme (FPS): **\$240** urse Fee: (\$825 x 12) **\$9,900 (b/f GST)**

al Annual Fees: \$11,230 (b/f GST)

gistration Fee: **\$180 (b/f GST)** etime Payment: **\$910 (b/f GST)** Books fee: \$217 Misc Fee: \$247 Uniform Fees: 196 Online portal: \$80 Library Fee: \$80 Examination Fee: \$90 e Protection Scheme (FPS): **\$240** urse Fee: (\$825 x 12) **\$9,900 (b/f GST)**

al Annual Fees: \$11,230 (b/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
7	International General Certificate	1. English (First Language)	Kashmir Singh	1:25	Regist
	of Secondary Education (IGCSE)	2. Mathematics	Natasha Nautiyal		Oneti
	(Year 7)	3. Foreign Language at L2	Maksuda Almazi		В
		(Bengali, Hindi, Punjabi, Tamil)	Alagumalai Sulochana		N
		4. Art	Reena Gupta		U
		5. General Science	Tam Joo Ee		C
		6. Humanities (Geography/ History/ Literature)	Surinderjit Singh		L
		7. Physical Education	Marinah Yatim		L
		8. Global Perspectives (TSDP)	Mysore Ramaradhya Swathi		E
		9. Information Communication Technology (ICT)	Alicia Teo		Fee Pi
			Hina Shahid		Cours
			Jesintha Aseerpatham		
			Rima Biswas		Total
			Pranjali Sonowal		
			Soma Some		
			Nishalini D/O Lakchimanathas		
			Swati Jain		
			Sudha Joshi		
8	International General Certificate	1. English (First Language)	Kashmir Singh	1:25	Regist
	of Secondary Education (IGCSE)	2. Mathematics	Natasha Nautiyal		Oneti
	(Year 8)	3. Foreign Language at L2	Maksuda Almazi		Вс
		(Bengali, Hindi, Punjabi, Tamil)	Alagumalai Sulochana		N
		4. Art	Reena Gupta		U
		5. Science (Biology)	Tam Joo Ee		0
		6. Science (Chemistry)	Surinderjit Singh		L
		7. Humanities (Geography)	Marinah Yatim		L
		8. Physical Education	Mysore Ramaradhya Swathi		E
		9. Global Perspectives (TSDP)	Alicia Teo		Fee Pi
		10. Information Communication Technology (ICT)	Hina Shahid		Cours
			Jesintha Aseerpatham		
			Rima Biswas		Total
			Pranjali Sonowal		
			Soma Some		
			Nishalini D/O Lakchimanathas		
			, Swati Jain		
			Sudha Joshi		

gistration Fee: **\$220 (b/f GST)** etime Payment: **\$1,240 (b/f GST)** Books fee: \$260 Misc Fee: \$280 Uniform Fees: \$220 Online portal: \$80 Library Fee: \$120 Laboratory & HE Fee: \$120 Examination Fee: \$160 e Protection Scheme (FPS): **\$300** Urse Fee: (\$1,280 x 12) **\$15,360 (b/f GST)**

al Annual Fees: \$17,120 (b/f GST)

gistration Fee: **\$220 (b/f GST)** etime Payment: **\$1,240 (b/f GST)** Books fee: \$260 Misc Fee: \$280 Uniform Fees: \$220 Online portal: \$80 Library Fee: \$120 Laboratory & HE Fee: \$120 Examination Fee: \$160 e Protection Scheme (FPS): **\$300** urse Fee: (\$1,280 x 12) **\$15,360 (b/f GST)**

al Annual Fees: \$17,120 (b/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
9	International General Certificate of Secondary Education (IGCSE) (Year 9)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) Art Science (Biology) Science (Chemistry) Science (Physics) Humanities (Geography) Commerce (Accountancy) Physical Education Global Perspectives (TSDP) Information Communication Technology (ICT) 	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Alicia Teo Hina Shahid Jesintha Aseerpatham Rima Biswas Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi	1:15	Regist Onetin Bo W U O L L E Fee Pr Course
10	International General Certificate of Secondary Education (IGCSE) (Year 10)	 English (First Language) Mathematics Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) Art Science (Biology) Science (Chemistry) Science (Physics) Humanities (Geography) Commerce (Accountancy) Physical Education Global Perspectives (TSDP) Information Communication Technology (ICT) 	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhya Swathi Alicia Teo Hina Shahid Jesintha Aseerpatham Rima Biswas Soma Some Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi	1:25	Regist Onetin Bo U O L L E Fee Pr Course Total

sistration Fee: **\$220 (b/f GST)** etime Payment: **\$1,240 (b/f GST)** Books fee: \$260 Misc Fee: \$280 Uniform Fees: \$220 Online portal: \$80 Library Fee: \$120 Laboratory & HE Fee: \$120 Examination Fee: \$160 Protection Scheme (FPS): **\$300** urse Fee: (\$1,280 x 12) **\$15,360 (b/f GST)**

al Annual Fees: \$17,120 (b/f GST)

sistration Fee: **\$220 (b/f GST)** etime Payment: **\$1,240 (b/f GST)** Books fee: \$260 Misc Fee: \$280 Uniform Fees: \$220 Online portal: \$80 Library Fee: \$120 Laboratory & HE Fee: \$120

Examination Fee: \$160

Protection Scheme (FPS): **\$300**

rse Fee: (\$1,280 x 12) **\$15,360 (b/f GST)**

al Annual Fees: \$17,120 (b/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	
11	Cambridge International AS & A-Level (Year 11)	 English Language (AS Level) General Paper (AS Level) Mathematics Biology Chemistry Physics Geography Accounting Information Technology (IT) 	Kashmir Singh Natasha Nautiyal Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Rima Biswas Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi	1:10	Regist Onetir Bo V U Li La E Fee Pr Course
12	Cambridge International AS & A-Level (Year 12)	 English Language (AS Level) General Paper (AS Level) Mathematics Biology Chemistry Physics Geography Accounting Information Technology (IT) 	Kashmir Singh Natasha Nautiyal Marinah Yatim Mysore Ramaradhya Swathi Hina Shahid Rima Biswas Nishalini D/O Lakchimanathas Swati Jain Sudha Joshi	1:10	Regist Onetir Bo U Li La Fee Pr Course

istration Fee: **\$240 (b/f GST)** time Payment: **TBC (b/f GST)** Books fee: TBC (per Subject) Misc Fee: \$280 Uniform Fees: TBC Library Fee: \$120 Laboratory & HE Fee: TBC Examination Fee: TBC

Protection Scheme (FPS): **\$360**

rse Fee: (\$1,400 x 12) **\$16,800 (b/f GST)**

istration Fee: **\$240 (b/f GST)** time Payment: **TBC (b/f GST)** Books fee: TBC (per Subject) Misc Fee: \$280 Uniform Fees: TBC Library Fee: \$120 Laboratory & HE Fee: TBC Examination Fee: TBC

Protection Scheme (FPS): **\$360**

rse Fee: (\$1,400 x 12) **\$16,800 (b/f GST)**